SYBCOM-IV-REG/ATKT-MAR-2025-AUDITING

Seat no:

Time: 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

3) Do not write anything except seat no. on the question paper.

Q.1 A) Select the correct option and rewrite the full sentence: (Any 10) [10]
1) The main objective of an Audit is .
a) To ensure that Final Accounts b) Detection and Prevention of Errors
are prepared. and Frauds
c) To help management in d) To evade tax from Government
committing fraud

2) An Audit Programme must be prepared .
a) Before Commencement of an Audit b)  During the conduct of an Audit
c) After the conclusion of Audit d) After submission of Audit report

3) Secret reserves can be legally created by
a) Banks b) NGO’s
c) Government organizations d) Joint ventures

4) is responsible for preparation of the financial statements.
a) Auditor b) Management
c) Debtors d) Customers
5) deals with Audit Planning.
a) SA®610 b) SA 300
c) SA620 d) SA230
6) Audit Sampling enables the auditor to audit evidence about some characteristics of
the items selected.
a) lIgnore b) Obtain & evalute
c) Manipulate d) Create

7) Working papers are the property of the

a) Auditor b) Client

c) Accountant d) Government
8) error is an error in totaling.

a) Casting b) Posting

c) Duplication d) Omission

9) Auditor expresses his expert opinion through his
a) Audit report b)  Audit note
c) Audit working paper d)  Audit program

10) is an asset, which is not subject to physical verification
a) Cash b) Debtors
c) Stock d)  Furniture

(P.T.O)
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Audit plan should be based on knowledge of the
a) Client's share capital b) Client’s business
c) Client’'s family history d) Client’'s medical history

The amount in in a voucher helps to prevent alteration of amount in figures.
a) Words b) Digits
c) Signs d) Roman numbers

State whether the following statements are TRUE or FALSE: (ANY TEN)

An auditor can take the help of experts.

Audit begins where the accounting ends.

Audit notebook is maintained by the auditor.

A voucher decides authenticity of the transaction.
Audit programme must be in writing.

A voucher must be dated.

Test checking involves checking of all the transactions in the books of original entry.
Routine checking saves time of the auditor.

Copy right is a current asset.

Vouching protects against misuse of assets.
There is no risk involved in Audit sampling.
Partial omission error is a type of two-sided error.

Explain the term ‘Fraud’. What are the different types of Frauds?
What are the Objectives of Auditing?
OR
What is an ‘Audit Notebook’? Explain its Importance
What is an ‘Audit Program?’ What are its Advantages?

What are the general points which should be considered by the Auditor while checking Internal
Control system?
What is Routine checking? Explain its Advantages and Disadvantages.
OR
What is Continuous Audit? Explain its advantages
Explain in detail Internal Control.

How would you vouch ‘Sales’?
How would you vouch ‘Salaries & wages?’
OR
How would you verify ‘Stock?’
How would you verify ‘Sundry Debtors?’

Distinguish between ‘Accounting & Auditing?’

Distinguish between ‘Internal Audit & External Audit?’
OR

Write short notes: (ANY FOUR)

Audit Procedure

Test checking

Audit Planning

Window Dressing

Clerical Errors

True & Fair View
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SYBCOM-IV-REG/ATKT-MAR-2025-ADVERTISING-II

Seat no:

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

3) Do not write anything except seat no. on the question paper.

Choose the most appropriate option: (ANY TEN)

The scope for minimum information is high in ads.
a) internet C) poster
b) news paper d) phamplet

Using gifts as means of advertising is common in .
a) outdoor C) specialty
b) transit d) POP

Act as 'supportive media' for advertising.
a) radio C) news paper

by TV d) banners

Advertising budget depends on

a) Funds available c) buying/selling
b) demand/supply d) ad copy
is common in medical shop advertising.
a) window display C) posters
b) transit ads d) electronic board

When advertisers book space in media it is called .
a) media mix ¢) media selling
b) media buying d) media scheduling

was the brand ambassador for Boost for a long time.
a) Sachin Tendulkar c) Zakir Hussain

b) Amitabh Bachan d) Abhinav Bindra

is a rational appeal in advertisements.

a) features c) hate
b) fear d) joy
Film stars have regularly been used in ads to promote
a) Cinthol ¢) Rinsoap
b) Lux soap d) Dove shampoo

‘The complete man’ is the tag line of .
a) Raymonds c) Gwalior
b) Adidas d) Nike

has become a major mass advertising medium.

a) Instagram c) interior display
b) hoarding d) POP
A series of drawings for an ad is called
a) story board c) text
b) logo d) layout
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State if the following statements are true or false: (ANY TEN)
Digital media is less popular than other media among youth.
Banners are used as mass media tools for advertising.

SMS advertising is popular in rural areas.

Large firms spend less on advertising and publicity.

Creative ads develop negative attitude.

Reach is a major media objective.

Loyal customers speak favorably about products.

Appointment ads use narrative copy.

Arrangement of elements in a copy refers to layout.

Compare and contrast is always done between competitive brands.
Check List Method is pre test method.

Consumer jury test is a part of advertising research.

Answer ANY TWO of the following:

Discuss digital media advertising and its advantages.
News paper advertising offers various benefits. Discuss.
Explain social media advertising.

Answer ANY TWO of the following:

Explain factors influencing the preparation advertising budget.
Discuss the importance of creativity in advertising.

Briefly explain media objectives for advertising.

Answer ANY TWO of the following:

Explain celebrity advertising. Discuss the benefits of celebrity endorsements.
Describe consumer behaviour towards high Involvement products.

Explain emotional appeals with suitable examples.

Answer ANY TWO of the following:

Explain logo. Discuss its role.

Briefly explain the importance of illustration.
Write a note on execution styles of advertising

Write short notes: (ANY FOUR)
Buying motives

Media scheduling

Music and jingles in ads.
Outdoor advertising

Creative brief

Readership test
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SYBCOM-IV-REG/ATKT-MARCH-2025-AFM-1V

Seat no:

Time: 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

3) Do not write anything except seat no. on the question paper.
4) Working Notes Should form the part of your Answer.
5) Use of Simple Calculator is allowed.

Q.1 A)  Fill in the blanks choosing the correct alternatives from the Options: (ANY TEN) [10]
1) There are minimum number of members in a Public Ltd Company.
A 7 B) 5
Cc) 2 D) 200
2) In Profit Prior to incorporation, Pre- incorporation Profit is transferred to A/C.
A)  Profit & Loss B) Capital Reserve
C) Goodwill A/C D) General Reserve
3) is an example of Non-Divisible Profit.
A)  Profit & Loss Alc B) Dividend Equalization Reserve

C) Capital Redemption Reserve D) General Reserve

4)  DRRshall be of the value of the outstanding debentures issued by an unlisted company
other than NBFC, HFC & NHB.
A) 0% B) 15%
C) 25% D) 10%
5) Debentures are those which are not transferable by mere delivery.
A) Registered B) Redeemable
C) Bearer D) Irredeemable

6) RK Ltd took over a running business on 15t April 2023. The Company was Incorporated on 31%
May 2023, Books of Account are closed on 31 March 2024.Time Ratio is

A) 14 B) 15
C) 25 D) 110
7 can be used for writing off premium payable on redemption of preference shares.
A) Revaluation Reserve B)  Securities premium
C) Profit & Loss Alc. D) Capital Redemption Reserve

8) SK Ltd issued 1,00,000, 8% Debenture of Rs 10 each at par, which are redeemable after 5
years at a Premium of 20%. The amount of loss on redemption of debentures to be written off
every year is Rs .

A) 10,000 B) 20,000

C) 80,000 D) 40,000

9) Assets cannot be realized or converted into Cash.
A)  Fictitious Assets B) Hidden Assets
C) Fixed Assets D) Current Assets

10) Amount of ‘Directors Fees’ is allocated in .
A) Time Ratio B) Post-Incorporation
C) Pre- Incorporation D) Sales Ratio

(P.T.O)
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can be used only for issue of fully paid-up bonus shares.
A)  General Reserve B)  Profit & Loss Alc
C) Capital Redemption Reserve D)  Securities Premium

After Redemption of Debentures balance in Sinking Fund Account is transferred to

Account.
A) Capital Reserve B)  Securities Premium
C) Profit & Loss D) General Reserve

State Whether the following statements are TRUE or FALSE: (ANY TEN)

The companies which are registered under the special Act of Central or State Legislature are
called Private Companies.

The preliminary expenses written off should be allocated to post -incorporation period.

Partly paid-up preference shares can be redeemed.

A debenture holder is a Creditor of the Company.

Right shares are conversion of profits into share capital.

Bonus shares can be declared by the company for the fully paid-up Equity shareholders.

In profit prior to incorporation Gross Profit should be distributed in the Time Ratio.

Profit or loss arising out of sale of Sinking Fund Investment is transfer to Sinking Fund Account.
Balance sheet of a company is prepared as per schedule Il of companies Act 2013.

Variable Expenses allocated based on Sales ratio.

If shareholders fail to pay the calls duly made the directors can follow procedure of Right shares.
In Redemption of Debenture out of Profits, DRR shall create on or before 30" day of April in
each year.

PQR Pvt. Ltd was incorporated on 315 July 2023 to take over the business of Mr. L with effect
from 15t April 2023. The following profit and loss A/c was prepared for the year ended 315 March
2024.

Particulars Rs Particulars Rs

To Office salaries 96,000 | By Gross profit 4,00,000
To L’s salary 8,000 | By Share Transfer fees 8,000
To Advertisement 72,000

To Printing & Stationery 6,000

To Travelling Expenses 16,000

To Office Rent 38,400

To Electricity Charges 20,400

To Director’s Fees 4,800

To Auditor’'s Fees 2,400

To Bad Debts 4,800

To Commission on Sales 28,000

To Preliminary Expenses 8,000

To Debenture Interest 9,200

To Interest on Capital 3,200

To Depreciation 8,400

To Net Profit 82,400

Total 4,08,000 | Total 4,08,000

Additional Information:

1)
2)

3)
4)

Monthly sales were Rs 10,00,000 during Pre- Incorporation period, while total sales for
the year were Rs 1,40,00,000.

Travelling Expenses includes Rs 6,400 towards sales promotion. The balance of the
travelling expenses are fixed in the nature.

Auditor’'s Remuneration was payable for the whole year.

Depreciation includes Rs 2,400 for assets acquired in the post incorporation period.

Prepare Statement of Profit and Loss in the books of PQR Pvt Ltd, showing separately Pre-
Incorporation and Post- Incorporation Profits for the Year ended 31/03/2024.

OR
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The Summary Balance Sheet of AMC Co. Ltd as on 31°% March 2024 is given below: [20]
Liabilities Rs Assets Rs
2,00,000 Equity Shares of Rs 10 20,00,000 | Fixed Assets 12,00,000
each fully paid up
80,000 9% Redeemable 8,00,000 | Investment 8,00,000
Preference shares of Rs 10 each
fully paid up
Profit & Loss Alc 8,00,000 | Cash at Bank 40,000
Current Liabilities 40,000 | Other Current Assets 16,00,000
Total 36,40,000 | Total 36,40,000
On 1% April 2024 the company further decided to:
Redeem the Preference share at a Premium of Rs 2 per share.
Realize Investment at 90% of the cost.
Issue 30,000 Equity Shares of Rs 10 each at a premium of Rs 2 per share.
Issue a Bonus share, to Equity shareholders at par in the Ratio of one share for every four
shares held on 315 March 2024 out of the said balance in capital Redemption Reserve Alc.
You are required to pass necessary journal entries to record the above transactions in the books
of AMC Co Ltd.
Following is the Balance sheet of LMN Co. Ltd as on 315 March 2024: [20]
Liabilities Rs Assets Rs
4,00,000 Equity shares of Rs | 40,00,000 | Fixed Assets 63,00,000
10 each, fully paid
8,000- 9% Redeemable 8,00,000 | Investments 6,00,000
Preference Shares of Rs 100
each, fully paid
Securities Premium 1,40,000 | Bank 8,72,000
Profit & Loss Alc 18,00,000
Sundry Creditors 10,32,000
Total 77,72,000 | Total 77,72,000
On 31 March 2024, the directors of the company took following steps to redeem 9% Preference
shares at a Premium of 5%.
1) The company issued 16,000 Equity shares of Rs 10 at a Premium of Rs 2 per share for
the purpose of redemption of preference shares.
2) Company Issued 1,000 8% Debentures of Rs 100 each at par.
3) Investments were sold at market value of Rs 7,60,000.
4) All the payments were made to the preference shareholders except those holding 200
shares who could not be traced.
5) The company issued bonus shares at par in the ratio of one equity share for every Eight
Equity shares held including the new issue, out of Capital Redemption Reserves A/c
You are required to pass necessary journal entries to record the above transactions in the books
of LMN Co Ltd..
OR
X Ltd gave notice of its intention to redeem its 8% 32,000 Debentures of Rs 100 each at a [20]
Premium of Rs 10 per debentures and offered the Debenture holders the following three
options:
a) To convert Debentures into 8% preference shares of Rs 100 issued at Rs 105 per share.
b) To exchange for 10% debentures of Rs 100 each issued at Rs 96 per debenture.
c) To have the holdings redeemed for cash.
i.  Debenture holders of 8,400 Debentures accepted option (a).
i. Debenture holders of 5,760 Debentures accepted option (b).
iii.  Balance Debenture holders accepted option (c).
Pass necessary journal entries to record the above transaction in the books of the X Ltd.
(P.T.O)
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ABC Ltd. was formed to take over a running business with effect from 1% April 2023. The [20]
company was incorporated on 1% October,2023. The following Profit & Loss Alc has been
prepared for the year ended 31 March 2024.

Particulars Rs Particulars Rs

To Salaries 2,40,000 | By Gross Profit b/d 16,00,000
To Printing & Stationery 24,000

To Travelling Expenses 84,000

To Advertisement 80,000

To General Expenses 1,89,000

To Rent (office building) 1,32,000

To Electricity Charges 21,000

To Preliminary Expenses 56,000

To Bad Debts 16,000

To Commission to selling agents 80,000

To Audit Fees 30,000

To Debenture Interest 15,000

To Interest paid to Vendors 21,000

To Selling Expenses 1,26,000

To Depreciation 48,000

To Net Profit c/d 4,38,000

Total 16,00,000 | Total 16,00,000

Additional Information:

1) Average monthly turnover from October 2023 to March 2024 was twice the average
monthly turnover from April 2023 to September 2023.

2) Rent of the building was paid @ Rs 1,20,000 per annum up to 30" September 2023 and
thereafter it was increased by Rs 24,000 per annum.

3) Auditor's remuneration was payable for the whole year.

4) Purchase consideration was discharged by the company on 315 October 2023.
You are required to prepare the statement of Profit & Loss in the books of ABC Ltd, as showing
distinctly the allocation of profits between pre incorporation & post incorporation, indicating the
basis of allocation.

OR

On 1% April,2021, XYZ Ltd issued 20,000, 10% redeemable debentures of Rs 100 each at 5% [20]
discount, redeemable at 10% premium on 315 March 2024.
The Amount is to be Invested in Sinking Fund Investment as 10% N.G Bonds. Amount of Annual
Appropriation is fixed at Rs 6,64,650 in Sinking Fund for the redemption of debentures.
At the end of 3™ Year Investment sold for Rs 17,00,000 and the Debentures were redeemed.
Pass the Journal Entries in the Books of XYZ Ltd for the Years ended 315 March 2022, 31
March 2023, 315t March 2024.

Explain Profit Prior to incorporation with basis of allocation of expenses. [10]

Distinguish between Shares and Debentures. [10]
OR

Write short notes on: (ANY FOUR) [20]

Types of Preference Shares
Issue of Bonus shares
Debenture Redemption Reserve
Divisible Profits

Time Ratio and Sales Ratio
Features of Company

35D *TOR
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Seat no:
Time: 03 hrs Max. Marks. 100
Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.
3) Do not write anything except seat no. on the question paper.
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Explain the procedure for Registration/ Incorporation of a Company.
Discuss the ‘Doctrine of Ultra Vires’ with exception and case law.
What is Memorandum of Association of Company? Write its Clauses.
Discuss the concept and types of Prospectus in detail.

Attempt ANY TWO of the following:

Discuss the rights and liabilities of the members of the company.

Who is a Director of a Company? Explain duties and powers of a director.

Briefly explain the provisions for conducting Annual General Meeting of a Company.
Write a note on:

a. Key Managerial Personnel [KMP]

b. Director Identification Number [DIN]

Attempt ANY TWO of the following:

Discuss various modes of dissolution of partnership firm.

Discuss the Advantages and Disadvantages of a Limited Liability Partnership.
Draft a LLP Agreement [Take suitable examples].

Describe the procedure for voluntary winding up of a LLP.

Attempt ANY TWO of the following:

What are the Powers and Functions of Consumer Protection Councils under Consumer Protection
Act, 2019.

Write a note on ‘Three Tier Machinery’ for Consumer Redressal Commission.

Write a note on ‘Anti-Competitive Agreements’.

Explain the concept of ‘Abuse of Dominant Position’ as per Competition Act, 2002.

Attempt ANY TWO of the following:

Explain the concept and Features of Intellectual Property Rights in India.
Explain the Concept of ‘Patent’. Write a note on ‘grant of patent’.

Explain the concept of Trademark and Different kinds of Trademark.

Write a Remedies under Patent, Copyright &Trademark under IPR in India.

35D TOR
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Seat no:

Time: 03 hrs Max. Marks.100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.
3) Do not write anything except seat no. on the question paper.

Q.1 A) Fill in the blanks: (ANY TEN) [10]
i)  Producing number of nails from a piece of iron is an example of transformation by
a) Service c) Disintegration
b) Assemble d) Process

i) V' in VED classification refers to .
a) Various c) \Vital
b) Variety d) Voluntary

i) MAPICS was developed by
a) Infosys c) Wipro
b) IBM d) TCS

iv) Japanese term ‘Kaizen’ means .
a) Change for better c) Change for improvement

b) Change for excellence d) Change for good
v) SIPOC stands for input, process, output, customers.
a) Student c) Supplier
b) Standard d) Successor
vi) Quality Circle is a Group of workers.
a) selective C) permanent
b) formal d) voluntary
Vii) is issued in denomination of Rs 5 lakhs & multiples of Rs 5 lakhs thereof.
a) Certificate of Deposit c) Commercial Papers
b) Treasury Bill d) Bills of Exchange
viii) is also known as ‘Tejiwala’.
a) Bull c) Stag
b) Bear d) Lame Duck
iX) refers to conversion of physical share certificate into electronic share certificate.
a) Demonitization c) Dematerialisation
b) Determination d) Deformation
X)  Section offers tax rebate to investors in mutual funds.
a) 80C c) 88
b) 100 d) 10D
xi)  The concept of Micro finance is popularized by .
a) Mohammed Younus c) Akash Sengupta
b) Andrew Taylor d) Brijesh Thakur

xii)  Softbank is headquartered in :
a) Norway c) Swedon
b) Italy d) Japan
(P.T.O)
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State whether the following statements are true or false: (ANY TEN)
Routing is an important element of production planning.

Just in time technique is also known as ‘Zero level inventory system’.
Productivity is the ratio of output to input.

Reliability is the measure of products life.

International Organization of Standardization is located in England.
Yellow belt persons possess highest skill level in Six Sigma.

The maximum period for treasury bill is 364 days.

Government securities is also known as ‘Gilt-Edged Securities’

When date and price band is added to prospectus, it is known as ‘Red Herring Prospectus’.

SIP refers to Systematic Investment Plan.
Mezzanine funding include only debt funding.
A future contract cannot be traded on stock exchange.

Answer ANY TWO the following:

Define Productivity? Explain the factors influencing productivity of production department.
Discuss the process of Production Planning & Control with suitable illustration.

What is inventory management? Explain its objectives.

Answer ANY TWO the following:

Enumerate the measures to improve service quality.
Describe the process of Kaizen.

What is quality? Explain its dimensions.

Answer ANY TWO the following:

Elaborate the functions of SEBI.

Explain the structure of Indian Money Market.
Discuss the importance of depository system.

Answer ANY TWO the following:

Elaborate different sources of funding the startup ventures.
Discuss the role of Self Help Groups.

Elucidate the advantages and Limitations of SIP.

Write Short Notes: (ANY FOUR)
Continuous Production System
Quiality Circle

Stock Exchange

Forward Contract

Micro Finance

Credit Rating Agency

D *TOR
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Seat no:

Time: 02 hrs 30 min Max. Marks. 75
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Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.
3) Draw diagrams wherever necessary
4) Do not write anything except seat no. on the question paper.

State whether the following statements are TRUE or FALSE: (ANY EIGHT) [08]
.in is a top level domain.

The highest layer of the OSI model is the application layer.

DNS is an online distributed database.

Analytical databases store information from both operational and external databases.
A database can contain more than one forms.

If two tables are joined, we can use the data from both tables in a query.

Graphics cannot be included in a table.

Once a query is created, it cannot be modified.

Telnet can be used to exchange graphics and audio/video.

Split form displays only one view of a table.

Select the appropriate option from the following: (ANY SEVEN) [07]
The OSI model consists of ____layers.

A) 3 B) 5

C) 7 D) 10

is not a feature of HTML.
A) displaying images B) displaying Videos

C) linking documents D) performing calculations
Name field must be defined as field.

A) numeric B) auto number

C) Text D) hyperlink
Builder tab is used to .

A) add atable B) update a table

C) clear atable D) arrange atable
The option to add Time to a form is in tab .

A) Create B) Home

C) External data D) layout format

To increase the field value of ST by 10 from table SY we use
A) 10 B) [ST]+10
C) [SY][ST]+10 D) [ST][SY]+10

To update a query using logical AND we insert the criterion in
A) same column B) same row

C) different columns D) different rows

uniquely identifies a record in the table.

A) Unique key B) Primary key

C) keyrecord D) major key
In database, the databases and the DBMS are both located remotely

A) Analytical B) Relational

C) Cloud D) External (P.T.O)
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10) Filter tab is used for .

A)

b)
B)
d)
A)
b)
B)
c)
d)
A)

b)

B)
c)

d)

A)

b)

B)

d)

A) modifying records B) arranging records
C) adding record D) conditional display

Attempt ANY ONE sub-question from a, b
Write short note on:
i)  Search Engine i)  Web Crawler

Explain the features of Java language.

Attempt ANY ONE sub-question from c, d
What is an intranet? What are the advantages of intranet?
Explain the advantages of e-mail

Attempt ANY ONE sub-question from a, b
Explain the different types of databases.
Explain the following terms used in databases:
1) Table 2) navigation pane 3) Attribute

Attempt ANY ONE sub-question from ¢, d
Explain the term relationship and join with reference to relational databases.
What are the advantages and Limitations of Database Management System.

Attempt ANY ONE sub-question from a, b
Explain different views of a table.
Explain how to
1) Change the field type in a table using datasheet view.
2) Display the records with Marks in science (SCIENCE,NUMBER TYPE) less than 70

Attempt ANY ONE sub-question from c, d

Explain:
1)  Filter tab for number and text type fields.
2) Gototab

Explain different Data types in Access.

Attempt ANY ONE sub-question from a, b
Explain how a query can be created by using
1) Query wizard
2)  Query design
There exists a database file EMP with table DETAILS having fields NAME, DESIGNATION and
BASIC SALARY, Write a query to
1) Display NAME, DESIGNATION.
2) Increase BASIC SALARY BY 1000

Attempt ANY ONE sub-question from ¢, d
Explain the difference between forms and reports.
Also Write down the steps to create a blank report.
Explain mailing labels and how to create them.
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SYBCOM-IV-REG/ATKT-MAR-2025-BUS. ECO-IV

Seat no:

Time: 03 hrs Max. Marks. 100

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.

3) Do not write anything except seat no. on the question paper.
4) Draw neat diagrams wherever necessatry.
5) Give suitable examples & illustrations wherever necessary.

Q.1 A) Briefly explain the following: (ANY FIVE) [10]
i)  Merit good
ii) Marginal social sacrifice
i) Indirect tax
iv) Progressive tax
v) Fiscal deficit
vi) Burden of public debt
vii)  Fiscal federalism
viii) Sound finance

Q.1 B) Choose the right answer from the given options and rewrite the statement mentioning the [10]
right option.
i) The budget deals with the receipt of taxes and administrative expenditure of the
government.
a) Capital
b) Reserve

c) Investment
d) Revenue

i)  Maximum social advantage is achieved when

a) Marginal social sacrifice = Marginal Social Benefit
b) Total social sacrifice = Total social benefit

c) Average social sacrifice = Average social benefit
d) Net social sacrifice = Net social benefit

i) is an example of indirect tax.
a) Capital gains tax
b) Gift tax

c) Corporate tax
d) Goods and services tax

iv) In case of personal income taxthe __ will be on the same identity.
a) impact
b) incidence
c) impact and incidence
d) none of the above

v) According to Wiseman-Peacock Hypothesis, public expenditure increase in manner.
a) smooth and continuous
b) cyclical
c) step-like
d) linear
Vi) is a postal saving scheme.

a) Public provident fund

b) Atal pension yojana

c) Employee’s provident fund.

d) National Saving Certificate (P.T.O)
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Q.2

Q.3

Q.4

Q.5

vii)

viii)

A)
B)
C)

A)
B)
C)

A)
B)
C)

A)
B)
C)

SYBCOM-IV-REG/ATKT-MAR-2025-BUS. ECO-IV

The chairman of the 14" Finance Commission is

a) Dr. Raghuram Rajan
b) Dr. C Rangarajan

c) Dr.Y.V.Reddy

d) Dr. Bimal Jalan

Fiscal policy does not directly deal with:

a) Taxation

b) Public debt

c) Money supply

d) Public expenditure

In case of shifting, the price of the commodity on which the tax is imposed will remain
the same.

a) Forward

b) Backward

c) Linear

d) Non-linear

Finance commission is appointed every years.
a) Five
b) Ten
c) Two
d) Seven
Answer ANY TWO of the following: [20]

Explain the meaning and scope of public finance in detail.
Explain Musgrave’s approach to the principle of maximum social advantage.
Discuss the role of government in correcting market failure.

Answer ANY TWO of the following: [20]
Explain sources of public revenue.

Discuss the merits and demerits of direct taxes.

Explain the meaning of the impact and incidence of taxation and discuss the differences between
them.

Answer ANY TWO of the following: [20]
What are the causes of public expenditure.

Discuss the types of public debt.

What are social insurance programmes? Discuss their basic features.

Answer ANY TWO of the following: [20]
Discuss the structure of union budget.

Explain the objectives of fiscal policy.
State the features of functional finance.
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SYBCOM-IV-REG/ATKT-MAR-2025-FOUNDATION COURSE-IV

Seat no:

Time: 02 hrs 30 min Max. Marks.75

Note: 1) ALL questions are COMPULSORY.
2) Figures to the right indicate full marks.
3) Do not write anything except seat no. on the question paper.

Q.1 A) Explainthe following concepts: (ANY FIVE) [15]
i)  Right to safety
i) Virus/Worm attack
i) Millenium Development Goals
iv)  Agreement Vs Contract
v) District Forum
vi)  Cyber Crimes
vii)  State Eligibility Test (SET)
viii)  Statutory Report

OR
B) Write a comprehensive note on Foundation Course (Semester V) Project submitted by [15]
you.
Q.2 A) Discuss Consumer Courts and the Consumer Movement in detail. [15]
OR
B) Explain (RTI) Right to information Act,2005 in detail. [15]

Q.3 A What are the goals of sustainable development adopted at the UN Sustainable [15]

Development Summit, 2015? Discuss in detail.

OR

B) Explain in detail Anthropocentrism & Biocentrism approach to ecology. [15]

Q.4 A) Explain the concept of ICT and discuss the possible misuses of technology. [15]
OR

B) Explain Laser Technology and its applications in various fields with suitable examples. [15]

Q.5 A) Explaintime management and describe time management strategies. [15]
OR

B) Explain In detail MCGREGOR’s Theory X and Theory Y. [15]
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